Al £ 0 & AHES & Al

2N ANEFEN
M OlhE EXTAIE (LSS /ABHEH)
Sl ADIEZAl I8 X4 (el Mg
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ADIEES It 12,031,703 11,843,198 188,505
= 250,000
& 71,531
Al 11,710,172
DlchE ETAIE RS (LIS SHE/UBIEEH) 10,535,005 10,375,866 159,139
= 250,000
T 71,531
Al 10,213,474
ADIEEAl DIt =4 4,182,919 4,479,257 296,338
= 250,000
Al 3,932,919
ADIEEAl elEe 2= 18,572 18,572 0
201 Ler23| 15,452 15,452
01 AtR2eltl 7,400 7,400
Oger=2| 800
o ADIEAIEl S2AE 2T M L 23
gl 200,000 %43 800
ORI =l 3,000
o AOIEAIEl E&dst /TS
3,000,000 *12| 3,000
Oo2g=< 3,600
o AQIEAIEl S2AY K232 =&
120,000 15 23| 3,600
02 S==29| 8,052 8,052 0
OAIE &Y= XY 8,052
o ANIEAIEl AIEZ2 FXI2t2]
8,052,000 * 14 8,052
202 0idl 1,320 1,320
01 =LHO4b] 1,320 1,320
OAOIEZAl XNLAXISH 23l 212 - Al
oLt &4 110,000 *3F x2 2+ 13| 660
OADIEAIE SEAE =&
110,0002 *3F x2 13| 660
203 R F=&Y| 1,800 1,800
03 A FRIHRFAIY| 1,800 1,800
OALIEAIEl 25 &3 K& =&
1,800,000 *14] 1,800
SUHEE MAH =5 1,004,534 1,310,700 2306, 166
= 250,000
Al 754,534
201 B2 AY| 169,680 159,180 10,500
01 A=R2teld| 169,680 159,180 10,500
Ogdet=gH| 55,680




FAM: ANEEHE
& DlHE dXAIE FE(LESSHY/LeEE)
Sl ADIEZAl D18 &4 (Gt M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
oL HAY ATE0{(CAD) SH2AIERA 2
& 54,500,000 * 14! 54,500
CHMARE(EZH dE) 7
700,000 * 1K 700
CHMARE(EZ2EH EX) 7
120,000& 12 120
cHMARE(EZH 23) 7Y
360,000 *1H 360
OZelE%l 114,000
oS U LSEHEAS(S/WN) |X2el
45,000,000 *14] 45,000
o QIS I AR E X AIAB(S/W) SXI2el
6,000,000 *14 6,000
oZUFEANAH S8 SNEBE) KAl2L
12,000,000 * 14| 12,000
oZUIEAAY =2
51,000,000 x14] 51,000
202 04| 1,520 1,520
01 2L 1,520 1,520
OAIZEH 39|, At & &4
110,000 x2E *x2 2 +23] 880
OSUE2AIAE S8 & XA
0,0002 x2& 22«8 640
401 AIZHIX R0 833,334 1,150,000 A\316,666
= 250,000
Al 583,334
01 A28l 828,084 1,145,860 A317,776
O& - 3145 GIS DB 48 - B4l Al
833,334,000 %99.37/100 828,084
= 250,000
Al 578,084
03 Al 2CHYI 5,250 4,140 1,110
O& - ot== GIS 0B =& - A4l A+ (0.63%)
5,250,000 *14] 5,250
CCTV SE2MHE 28 & 2435t 3,159,813 3,149,985 9,828
201 fer=2 3| 1,627,893 1,534,065 93,828
01 AtR2te|HI 476,423 506,595 A30,172
Oget=EH| 42,863
oZtHME 2283 7Y
300,000& 122 3,600
SHES A2E 7Y
200,000 +55 1,000
oEAI ARE(EH) 7
190,000 x2H 380
oEADI ARE(EEH) 2
490,000 1K 490




FAM: ANEEHE
& DlHE dXAIE FE(LESSHY/LeEE)
Sl ADIEZAl D18 &4 (Gt M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
ocZHZEH ARE(EH) 2
290,000 x4 Z5+3H 3,480
oZHIEH ARE(EY) 2
300, 000& x4 S 24 2,400
CMEONNEH 2SYUBE 7Y
100,000& * 122 1,200
o(CTVEE 2 MU & dEctdMe2 82
£ 7 4,000& 2,000 8,000
o NAIS HEWYAAY 2EA Rt
Lhet &5 7,000,000 *37H 2= 21,000
o(CIVSE2MUH S22 SHAZH
43,7502 30 1,313
O=g=g 2,500
o(CVSE2MHE =24 MetA EOt
SA=E 250,0008x108 13 2,500
ogxz 3,000
oFJ| Xt 50,0008 «2CH* 122 1,200
o=JIEEI| it
50,000 x3CH* 122 1,800
OZelE 4| 428,060
o(CVSE2AMAILE Set=Al2e
428,060,000 x 14 428,060
02 S3=gHl 1,151,470 1,027,470 124,000
OsE2= & HA 1,101,470
o(CIVEE 2 MEE d23ldz
75,00081%1,0162] &4+ 10 762,000
SAUNIEAIEl SEHEAS MEJH=
1,000,0002 122 12,000
oU-MESAY HEIHE
107,0002 x22] & * 122 2,568
o(CIVS 2 MAE eIEY AIZ2
21,6903 +b3] &4+ 122 1,302
oCIVSE2MAH Hd= &g
8.,000,000& 10& 80,000
ogdHE CTV &)=
24,0003 8657 2+ 102 207,600
o AXS HEMMUAIARE 2EAIY St
LE MHH 0IE= 3,000,000& «12& 36,000
OAlE &8I Xl 50,000
oCIVAIZdE 2+ & 01&
50,000,000& » 14! 50,000
202 04| 3,920 3,920
01 =LHOLI 3,920 3,920
OV t8 8 g4
20,0002 =2 x4 2 +8E 1,280
O=¢g AHMXZ0l BHelA HA
110,000 x2EH*x2 2 %13 440




M
X ZH -
o=

chel:

AOIEEHE
OlHE EXAIE RS (L3S
AOIES Al D18 &4

02

/et

02

&)

SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
OCCTIV HeIEE Esus &4
110,000 x2E * 12 %23 440
OCVESE 2 HHE 232 HA
110,000 x2Z 22 +43] 1,760
401 AIZHIX R0 1,362,000 1,212,000 150,000
01 A28l 1,356,582 1,207,997 148,585
020258 AlRIHE S ?igh S-HSCCTV &XI
860,000,000&*99.37/100 854,582
Ot & ARIXIN oHAE I8t HEHE TV
HX[20244 SEWRA
100,000,000 * 14! 100,000
O=AAS S ALY 2=
82,000,000& » 14 82,000
O=ths, == S ¢8E IV €%
320,000,000 x 14 320,000
03 AIE S THYI 5,418 4,003 1,415
020258 AlQItE S I8t HHECCTV £X
860,000,000& +0.63/100 5,418
405 AHaHE = 166,000 400,000 234,000
01 I =S F=HI 166,000 400,000 A234,000
OCVSer 2 MdE == S&FHl WA
166,000,000 *14] 166,000
ANsdZst & 1,804,916 1,221,672 583,244
s 21,389
Al 1,783,527
e wcld =249 354,645 209,845 144,800
201 =3 363,565 208,765 144,800
01 At22t2l] 363,565 208,765 144,800
Oget=ZH| 165,665
SUAOIE I MAL 42
2,000,000 #23 4,000
SOIEYES AHIA 48
858,000 122 10,296
oRlT WA ASH BAR
869,000 1CH 869
oFcld == MH WA
19,200, 000 *3CH 57,600
oFcld == AEZA WA
48,700,000 *14] 48,700
ofcld == Jtatst W Al
35,200,000 * 14! 35,200
oFc|d A 2ot SN
9,000,000 %14 9,000
Oo=2g=¢g 4,400
ool 8IS AOIHE S B4+
50,0002 x6H +32] 900




2N ANEFEN
M OlhE EXTAIE (LSS /ABHEH)
=elr Asd2st Ad (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
SNt EIL MAIE
250,000& *7F *23| 3,500
Ozels9| 183,500
oFR 2IOIMHIA X2t
150,000,000 * 14 150,000
oKSEHILAIAE X2
33,500,000 *14] 33,500
202 44| 1,080 1,080
01 =WOdLI 1,080 1,080
OUE SFeld &2l AD|s U=
110,000 x2H x2 2 *13| 440
O”AIE N XHE 4+
20,0003 =2H »23| 83 640
SXAAIE 2 174,448 174,448
201 B2 AY| 13,808 13,808
01 AtR2elt] 13,808 13,808
Oozels4| 13,808
o AQIELZI0l MAHAIE X2t
13,807,200 & 14 13,808
202 04dl 640 640
01 =LHO4b]| 640 640
OXXAHAE 28 HEFA
20,0003 *1H 4«83 640
401 Al HIZLS0HY| 160,000 160,000
01 AlEHI 158,848 158,848
OSHES AUELC0l MIAHAE RS
160,000,000& %99.28/100 158,848
03 Al CHYI 1,152 0 1,152
OSHs ANELC0l EXAHAIE 2=
160,000,000 *0.72/100 1,152
230t 28 43t 10,820 17,820 A7,000
201 B2 AY| 2,200 2,200 0
01 A=R2teld| 400 400 0
o2g+Y 400
oHEBS0IE T2 )22 At A AAF <
3| AA = 100,000& x4 H x 13| 400
03 HAL2 G| 1,800 1,800 0
OZ=2=0ts H#HE L MESHA 1,800
o8B K= S 400,000 & *23| 800
ocdXtz 500,000 *x23| 1,000
202 44| 1,920 1,920
01 =WOdLI 1,920 1,920
O&¥ 230t 2td OHE & 319 AN
110,000 x2H x2 2 *33| 1,320




o
®)
F
uy

oo
- () ()
n0 gle|e
KIo @ olo
= E o
D ()
Eh 0 | N~ |[®|®
) g|=|= 8|8 E
RIS =TT @ S|= 8
= 3 m
1 = S
3l Sl 8 S|<|22 8 3 28 glglg 8
= gl=l=0 v e e | JEIEEEEERE
= —|= = 0o o)) Am.. S8
pa [@)) o - © D
= N Q o |lo
N
o —
Al —
E3 o 110 o] —
o ol 3l ¥ § 5 o -
Al 0 = = i — —
Mm O 5 % mm_ = 8 @ 1o ol = =
| o2 e Al B Q0B B S S w % P IO %
= aQl G0 ORt ofU o
. o ®op s YHY 49 o 8 ol ol O - = ©
g 3l = o®m_m Qwm o > L e W © T0% g
ol > = L gogH z g 8 od 50 S 8 o4 2
a | 225 | 2 23238 : 2 of | 8| pie %% od
e = W B ¥s a8 ® S © 4 o H 8 8 e P ®m
=3 I xr el o A Ko ﬂ 0 & m - - g o
o R CU o « 5o & = $ & S
= |5 = g o ¥ & o . S M S < o5 8
= |[X = E o = = m - o Lwow®
S E m = = oo o 5 @ ‘s 's
o K JD i <0 ~ r K4 o T i = N
& | o w Iy WX G U o E RO ol 5
N - w— oo S R o u = v
O C I il Sa 2 3 [Rosm Blslz 3 2 o o % 5 oE L
R |z = 2|z Hy W E Sl m 2 |® Hlm W w § 0 F S W oo 0 =<
N O L s EE HeRLe B 5 i -5 BEy220 Hoom
= = 0 RO 5l ®o Dilgyor o oo > oF 7 Tl I & T % 0 =
S| = O O ol RO 0 zo |2 | I G %0 30 RER o | ® <0 Ol
oF S ~ O Sul= ol 0 Ao 2 = o< T g _ -
5|8 wl=|= O 0 o Wwﬂul_ EMEMW:E__M% = M K
W | & O S|M 5 iz wad T 0 S
oK <BES sl= @) ~ o ol ™ D._
&7 s O @) O o
N~
o
(ep)




FAM: ANEEHE
& DlhE AXAIE FE(LESSHY/LeEE)
=elr Asd2st Ad (S &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
02 QB HANSEER 20,000 20,000 0
ONgs 23 us
10,000,000 * 14! 10,000
Oofe! Y23 DS
10,000,000& » 14 10,000
32 25 & =23 MY = 649,606 245,214 404,392
201 er23y| 246,746 183,130 63,616
01 AtR2te|HI 217,146 163,530 63,616
Odgt==d| 173,095
oHRE HHOl2A Al AFEH 7
90,961,000 * 14| 90,961
CHAUAEETEIISAIAE P2
80,733,620 x 14 80,734
SIHIEEES & AMOIH Falltis ws1l
M E2 700,000 22 1,400
Oo=2g=+¢ 5,700
o0=Al ASHEEsE3 39 A
100,000 x 10 <23 2,000
SIHRIEEES H AOIHEW tHEWS
100,000 24| 2H+3E 22 1,200
oA 2B 32 BA+E
100,000& 5 +53] 2,500
OZelE%l 38,351
SIHIEE LS AAY RA2e
14,374,800 x 14 14,375
oolY ANAHFISH U HEDE 22
& =X2el 8,388,600 * 14 8,389
o XNBEASFAIAE (HIDHHIR) RAI2
2l 15,587,000 * 14| 16,587
02 s5=34l 29,600 29,600 0
O332= % HAl 19,600
SIHQIEE AL 2olibhel HMAEE It
19,600,000 * 14! 19,600
OAlZ &I Xl 10,000
o AQIEHME FXlI2tel
5,000,000 14] 5,000
oHZ4 AT WKE 2L, |
cl 5,000, 0002 *14] 5,000
202 04| 2,860 1,980 880
01 =LHOLI 2,860 1,980 880
Odptger - JHeldEE S ns &4 & ZH
110,000 x3& 12 23] 660
OAtOIHIZo S22l ¥ T &4
110,000 x2E 12 %23 440
OZE=H =4 Nz+d € g2
110,000 x2E+x2 2 %23 880




M
X ZH -
o=

chel:

ADIEF2
DIZHS HXAIE 7E(LeBBY
NsHs A

02

/oltll-

=2

02

&)

SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
SICEEEES)
110,000 x2E *x2 2 +23] 880
207 ARl 400,000 400,000
02 MAHHZHI 400,000 400,000
OouRdd 488 Al 75
400,000,000 x 14 400,000
CIOIE DIty 2 st 195,950 365,510 169,560
201 fer=23y| 73,750 163,750 80,000
01 AtR2te|Hl 73,750 163,750 290,000
Ooget+=EHI 2,000
oS 30018 & HIOIEDIIEHEE W=
2 EL 1,000,000 22 2,000
Oo=2g+¢ 1,750
SADIE GISHFAIAY DT3 HOA B
I AM=E 250,000& «7H*13] 1,750
onzlg| 70,000
SHIGIOIE 48 - HE, ADE WIS Al
A" FA2e 70,000,000& 14] 70,000
202 04t 2,200 1,760 440
01 =LHAHI 2,200 1,760 440
Oulole degdel s % &8 &4
110,000 x2E*x2 2 +53] 2,200
207 ARl 120,000 200,000 80,000
02 MADHEH] 120,000 200,000 280,000
OADIE GISHEAAE &3t
120,000,000 * 14! 120,000
SH AL 201,507 143,257 58,250
101 @124H| 36,522 27,736 8,786
M IIRINZZENSE S 36,522 21,736 8,786
OAFIHIEAN ZAIR S 26,966
oZpR2IN o5
83,2803 * 1 +28 70k 1,633
oXArZe| Xt IR Y
83,2803 7 *282 x70% 1,427
oXANIZ 2|kt Q12 Y
80,2402 » 12«28 +70% 1,573
I EWEERIE T
80,2402 x0E 192 *70% 9,605
oMNBIEER 24,239,000 *11.252% 2,728
OFEAMSIBMAEZA ZAIRE 9,556
o AR AIFY
83,2803 x4 »20 6,663
o8z 2R
80,2402 x4 H 6 1,926
oMNBIEER 8,589,000& *11.252% 967
201 er23| 146,745 102,281 44,464




25 ANIEAS D
M DIHE AXAIE S (LSS /L0 N)
B9 NsTE3 U (cis) 22
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
01 AtR2t2lbl 146,745 102,281 44,464
Ogt=EH]| 146,745
O AMHEZAI ZAIR E2E
80, 2403 *45F x26 2 x70% 65,717
o AIZHI AN ZAFRY WSHI
6,000& *452 %252 x7(% 4,725
o XANRE ZAIEZE 2
25,0003 1104 2,750
oS HAIRA SH2E Y
400,000& *53] 2,000
oEHXEAI EE L &40 M 3,450
-FuUE 240,000& * 1090 2~ 2,400
—dt= 70,0002 x 1500 2 1,050
ocHE=SAHAE HIEH 13,120
~OlAENOlE HE - w2t
11,000,000 & * 1A 11,000
—SHAHE B= 2,120,000& *1A 2,120
oAl HAEKXNIT HME
10,000,000& * 14! 10,000
SHINBIAHAEEA FALE 7
5,000& *1,2007H 6,000
o HUEAISIZMAEHEAI ZAIE, XIEASE
ol 4 4,500,000 14! 4,500
oM UEHAIS|ZANAENZAI EDA QlAH
50,000 *1005 5,000
oM UEAISIAMAEIZAI ZAIR S22
80,240 x20H » 17 27,282
o HUEAISIAMAENZAI GIHIEAIR &2
=1 80,2403 x2H x1L! 161
oHUEAISIZAMAEHEAI ZAFR WEH|
6,000 & x20H * 17 2,040
202 04b| 3,240 3,240
01 2L Y| 3,240 3,240
OALZIZAL, AFSA - 2 - HIEZP A 3,240
OXAMNXE NE L FEUE, KNEHE
110,000 2 x2 2 x33| 1,320
oEARAI AAF Y XE=EHAH
20,0003 x1H*30 600
okl9EHLYN EEF Y AHAXG =HA
110,000 2 x2 2 x 13| 440
oKOSIS SHDBMAAIAE 2H R
110,000& 2 x2 2 x 13| 440
oEH | U2FE
110,000 x2H 22 x13| 440
308 AXISHISOIA 15,000 10,000 5,000
13 S| 2 SHUSEAERAEAIDHI 15,000 10,000 5,000




2 ADIERED
M OlhE EXTAIE (LSS /ABHEH)
=elr Asd2st Ad (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
O ==Al HEAI2| BRIAEHZA 2
15,000,000 * 14! 15,000
AP A 73,800 71,753 2,047
& 21,389
Al 52,411
101 2124 d| 9,933 9,530 403
& 4,716
Al 5,217
M IIZINZ2 2SS Es 9,933 9,530 403
Odete T - H==Al AFSIZAF ZAIREA 9,933
o X A2t At IR
84,0003 x4H 152 5,040
= 2,520
Al 2,520
oo oY
81,0003 6 +8 3,883
& 1,944
Al 1,944
SYNEIISE= N 8,928,000& *11.252% 1,005
= 252
Al 753
201 L2 AH| 62,897 62,223 674
& 16,673
Al 46,224
01 At 22|l 62,897 62,223 674
Oget=ZH| 62,897
oNeteE - H=Al ARSI ZAL 35,000
- AMXEAN, ZME S TAIEF HIE -
oI 3,000,000& * 14 3,000
—ABI AL EE(Ee) 28 HE
8,000& *2,000H 16,000
& 3,024
Al 12,976
AR A 20 Rtz 24
10,000,000 *13 10,000
—AZIZAF BN =X HIS
30,000& x200% 6,000
oSS HYLR DAY
81,000 *28% 12 27,216
T 13,608
Al 13,608
oOIHI ZALR s
81,000 x 11 81
= 4
Al 40




2A: ANEFS D
A DicHE ATAE RS (L SI T /LBEEH)
=elr Asd2st Ad (Cte M)
=] X . Cl2| (S =] o= }OH dHEL =2
SA - ZH - C9I(B) - NIRAR - BaS Ofl ko il Aboa HlRE2
oSHEAY SH(ZAXY) NS+
20,0002 +3H 5225 600
202 04l 970 970
01 =Liod 970 970
OZANEL= & SSE, NEHE
110,000 1 H* 12«33 330
O EEAL &AL & X=HH
20,0002 «4H+8 640
HEHE S 2 2,261,299 2,222,828 38,471
SSIEts BZIZAAE 2 415,978 380, 199 35,779
201 23| 285,262 253,127 32,135
01 AFS2teltl 59,828 68,697 28,869
OZelg9d| 59,828
oA SEAMESIE(MS) sXl22
12,000,000& * 14! 12,000
oHTPFEAAH SEAELCX S22
22,000,000& %14 22,000
oSEAELX HAOISF K2
9,500,000& 14! 9,500
oXMH BNRE ZotMH |Xi2kl
2,836,000 14 2,836
oSER2I01(S0) AIAE Szt
4,599,000 14! 4,599
oMAA SEMMRAZII(UPS) K2t
6,150,000 * 14! 6,150
oot E2EE)| Rl
2,743,000 14 2,743
02 Z324l 225,434 184,430 41,004
03223 2 MA 225,434
oZetRE MEAIAE CIXNE MHIA 012
= 225,434,0003 * 14! 225,434
202 04l 2,840 2,840
01 =LHO LI 2,840 2,840
OdEHEE, =2-Liet, 33718t § g2 A
110,000 x2ZH 22 *33] 1,320
OHHZZBAIAEH2E B0 X &F
20,0003 x2Hx22+8E 640
OHUFHBAIAE DEFIAIY MBHEY WS
=g 110,000 x2H 22 %23 880
308 KXISHMSOIA 127,876 124,232 3,644
13 S 2SOIUEE A EAS ALZ | 127,876 124,232 3,644
OXNYHYBEHZAIAH ALHH 29
7,500,000 14! 7,500
O38018t & THHESFAIAE Sl
92,39%,000& * 14! 92,3%
O=2-liet & 2HNFSAIAE S22l
27,980,000& *14! 27,980




2N:

ﬁD}EX‘H:Ij}

B2 DS ®AAIE P (LBIBDY/LeE)

ool BIIDe 2 (B9 &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ok 2 22 1,845,321 1,842,629 2,692

201 B2 AY| 1,136,701 1,107,009 29,692
01 At 2elt] 1,136,701 1,107,009 29,692
Oget=2H| 863,593
oI|2E SOMAIAE ALZA A
2,090,000 * 14 2,090
o&EE &3S Al 241,793
—MSQUIA A= a4l
263,220 3 *440= 115,817
—Adobe(OI 28 S HHZ) AISA HAl
562,300 502 28,115
—SHEQUIA AISH Al
101,200& *9672 97,861
oHM¥HIRE MAMIH|(Z2H S) 223
=y 619,710
~EWTRIE £l S XY
420,000 x 1500425 126,000
-SUuegly EY - &g 22¥™
362,000 *150CH*3= 158,400
- CEGINER=t
343,0002 x120CH 4= 164,640
-Eoey EY - &8 22E™
330,000& +x35CH*2E 23,100
-8, EUSI4+S, TAEHE
363,000& *130CH*3= 141,570
-0t24, IIBE
20,0003 *100CH*25 4,000
—Natal 2 2012 & ARE 2
2,000,000& * 14| 2,000
Ozels49h| 273,108
o ™MALEHI(PC, ZelH) |Xl&2]
3,413,850,000& *8% 273,108
202 0441 1,320 1,320
01 =2LHO4H] 1,320 1,320
O¥EN ADJl& W < AMOolL ZA0dd]
110,000 2H 32 +23| 1,320
405 XHeHE S| 707,300 734,300 A27,000
A2 FH S 707,300 734,300 A27,000
O&ALEY| SHst 707,300
oAHAEEZE PC WXl 1,300,000 *375CH 487,500
oLES 1Y 2,200,000 =34CH 74,800
o0l Z2IE(E%) WAl
700,000 *70CH 49,000
odl0I™d Z2lE( ) WA
3,000,000 *32CH 96,000
J3ESY 0|28 &4 2,285,871 2,452,109 A 166,238

H

50,142




2N ANEFEN
B DS MAAIE PE(LNDDHY/LHBE)
ool HBSAY 0188 T4 (CHol: &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Al 2,235,729
BN HPSA FY| S 2,128,217 1,489,455 633,762
201 L2 AH| 1,305,239 578,79%5 726,444
01 AtR2telt] 474,548 462,111 12,437
Oget=ZH| 34,515
oHHMSIHS S HME
1,000& *2,5000H 23] 5,000
of X EH & 228 F(78)
71,0003 *7Z*15J1x13] 7,455
SUEYT 222y A22 7Y
115,000 x4 B8 *23] 7,360
o|pHgtsSAY 2 A2F Y
62,5003 6 *8IH*23] 6,000
oAZSA U =H EES SRR
300,000& * 102! 3,000
SBHIE 018018 QBT FA 242
5,700,000 & * 14! 5,700
o=2gs 2,000
cHUTSHMAIAE SSFA22| Metd &
b MAE 250,000 *8H *13] 2,000
Ozels9| 438,033
oHAHMSH Wed| ¥ SUEHl FX22
1,638,023,6402 x8% 131,042
oHIE/IZEHl ®Xl2e
1,653, 149, 7303 8% 132,252
o EoHEH| Rl
549,813,400 *8% 43,986
o RH0ISYSEEH |2l
1,293,200, 0002 x8% 103,456
oSANA(ALL) PHEMAFXI(UPS) 2K
2te| 75,000,000 *8% 6,000
CRHEETHEXIAMAE S22
58,500,000 8% 4,680
oAl(IBXIS) ASAIAE X2
16,617,000 * 14| 16,617
02 S==29| 830,691 116,684 714,007
O3s22 ¥ A 792,691
oAQIE ZZ2Y 210/I0] &=
10,4003 x5300 A+ 122 66,144
oZE2A0/II0| 3l Z
41,8003 *253| &+ 12& 12,540
oES320/I0l MEIA ERE
78,223,000& x9& 704,007
o320/ It0l MIIZ
10,000,000 14! 10,000
OA-&EHIR XU 38,000




o
®)
F
uy

I2SNY 0l

ADIEAEZ D}
OleHs &XHAI

2A:
SRR

ZH
CHel:

o | o
A0 S ofe
o | 28 S 0
KI0 el o) S |5 O O
£ S|e
o <1< 8
&
m m N |m
r S (S & | S BB
i BlE |88 T 3 |z
RS & &l , &
= © & ]
- g
SNEE
S| 8 8 8glilg &lxlz 8
glo|le o = = ele el IR 88 8% I 2 8|3
o) = Sl o .9 S O = — ol o
3r 2z ZIFJI§ 8 & “© &Hwﬁwﬁﬂmwmwmﬂ& T
Ed g & 8 8&%9_,9_,%,2,%,6, > 8 38 m%%%
e gadlgdgdldd P2 58 <
© © © 35 38
o} — _
© 1o} ol —
E3 0 = —
5 o ¥ 8 = < 53 13 . =) U= W = _
o |58 L m & T ? 9 9 g < 0« =< W =
—~ 0 X =
Bl g~ o OF, | T ¥ — —
0 |=zs = k0 = m 2 ou o o "y x X < -
m [ T WE B SN 88 8 W =% B % e
R g =8 X =& Sc o= =8 8 i 5
a |z wg g B 5= LS8 8/” B8RE S S
= |5 S 8 - 3 oo > & 2 8 o >
* m_l nu__.w m E = .“_-w_ o ok = < ] © > m
=3 ) o =l K] N ] H = IS -
< ) % Kk _ _ Ir of oY
. — 3! D _M -
= |2 sk O g =< m = mm A % N
= |= o7 of o 30 = o - . o 0 o ~
o |uo m » ¥ 0H 55 =3d 2 o = |w ) % i)
F |I= m k" or _ 9 2D 3y oW R = A0 R
& o 5o oz oF paw a5 R s - =
[uy] . B o = aL< oz H = W < o] o o _ & 5 i)
. Mﬂ_ = ok H mm_u o D% - H_._m < 0OF 3 E H =< R0 ] i = Ao =] -
I S ol %0 N &) | r ° ur Lo 00 — > o R = 0 z = = o =) =
Al — |2 = o — ur Hl ol < T TN = o = o — P A 4
RO 5|35 < KD I S|oF B & ok It S RO 10 RO |5 =) — ok il
0 = (m W ® s H |[Zla T |32 wooW ™ w5 < o |3 o < 4 J
3 =3 o O ° Zlg Hd o 0 00k M Wk |FO 0H oo = RO |
o s|g © 0 K0 = A0 =
I+ S| gl © 5 o H < Y M oA = =
~ O w_ ofl do A0 0 @o 2
5 S 8 O =
=< n
&0
0H
R0




2N ANEFEN
I AHNPHAHI(ACIEZZ D) (DIEHDIIE)
2ot gRes (ol &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ol 2| 306,017 276,531 29,486
ol 23| 306,017 276,531 29,486
101 e124d| 306,017 276,531 29,486
03 SRA(RINHL) 2224 306,017 276,531 29,486
OAIZte 228 14,957
CHINE -S4 AP DX
15, 1002 x2H *20A| 2H+ 12 *150% 10,872
o(CTVE2tMIHIE 2te|Xt
11,3462 x 1 Z+20A| 2H+ 12+ 150% 4,085
OCCvEet2MdY 2HMILEEN FL2R
=g 166,230
oBFYIR
85,5003 *30H #1524 150% 57,713
SESVEE RS
85,5003 *30H 162 *150% 61,560
oZHARELEL Botus BN &
17,0052 x23H »23| 787
ocE2R 85,5003 *30H « 122 *150% 46,170
OCCIVEg 2 e 2MILEEX OR22
=g 85,500 *8H 3652 x50% 124,830
Jl2&l 1,190,681 1,190,801 A120
J|=2Z| 1,190,681 1,190,801 A120
201 B2 AY| 1,172,652 1,172,652 0
01 At 22|l 48,745 48,745 0
OYLBtLEH| ZoH A
20,027,000 & 14! 20,027
O=4| 28,718
ozZAlHl SHA A 26,450,000 3 *14] 26,450
SHEFY - (CIVRA - SAYD 22X A
] 9,000 x3Z 7123 2,268
2 BZ2H| 1,123,907 1,123,907 0
OZZRZ UL WA SAHA
1,093,907, 000 * 14| 1,093,907
OAIEEHIS B &3 At
30,000,000 14| 30,000
202 O4H| 11,429 11,429
01 2LH0H| 11,429 11,429
ORASY SN 4 7,829,008+ 14! 7,829
OBHIE - (CVRAl - SAIS 22 Ol
20,0003 +3H+52 123 3,600
203 PYRF=&IH| 6,600 6,720 2120
M EXN2IHRFA| 6,600 6,720 A120
OANIEEFZ1H60Z)
(400,00024+(5,0002 30 ) ) x 12& 6,600




